Q.P. Code :03188

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Questions No.2 to 6 have internal option.
3. Figures to the right indicate full marks.

Q.1 A) Select the appropriate alternative and rewrite the full sentence (Any Ten) (10)
1. Idletimeis
a) Time spent by workers in a factory.
b) Time spent by workers without work.
c) Time spent by workers in office.
d) Time spent by workers on their jobs.
2. The costs associated with storage are an example of
a) Carrying cost
b) Ordering cost
c) Labour cost
d) Quality cost
3. Indirect costs are known as
a) Fixed cost
b) Overheads
c) Variable costs
d) None of the above
4. Cost allocation basis in Activity Based Costing should be
a) Resources
b) Activity Centres
c) Cost pools
d) Cost drivers.
5. If Actual output is 50,000 units, normal loss is 6,000 units, Abnormal loss is 4,000 units, the Input is
units.
a) 40,000
b) 30,000
c) 60,000
d) 36,000
6. Abnormal loss is
a) Controllable
b) Non-controllable
c) Ascertainable
d) None of the above
7. Economic order Quality refers to
a) The quantity of material to be ordered at a time
b) The quantity of material to be recorded
c) The quantity of material to be maintained
d) Quantity to be used economically.
8. Tenders and Quotations are usually based on
a) Cost statement alone
b) Profit alone
c) future estimates
d) Previous periods cost adjusted for future forecasts.
9. Ifsalesare Rs. 1,00,000, fixed cost Rs.30,000 profit Rs.14,000 the variable cost is
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a) Rs.1,00,000

b) Rs. 56,000

c) Rs. 44,000

d) None of the above

Initial cost includes if the asset is constructed in the factory.
a) Research and Development cost

b) Quality control cost

c) Design modification cost

d) all of the above

Plant specially purchased for contract is debited to

a) Plant

b) Sub-contract

c) contract

d) none of above

Under Non-integrated system, the number of set of account books maintained is
a)a

b) 3

c)2

d)1

State whether the following statements are true or false (Any ten)

The casual relation is considered under Activity based Costing system.

The degree of completion of work is determined by comparing work certified with cash received.
Material losses due to fire should transferred to costing profit and loss account.
Fixed cost per unit changes with change in quantity.

At Break Even Point, total revenue exceeds total cost.

Work uncertified is valued at cost.

Strikes and lockouts is normal idle time.

Abnormal gain is credited to process Account.

Contribution is always equal to fixed cost

Profit on sale of fixed asset is included in cost for calculating costing profit.

Actual rate is used while computing labour efficiency variances.

Interlocking Accounting system is also known as non-integrated accounting system.

From the books of accounts of V. manufacturer the following details have seen extracted for the year
ended 31-03-2017

particulars Amount (Rs)
Purchase of direct materials 10,50,000
Purchase of indirect materials 75,000
Carriage inward 50,400
Insurance-Raw materials 14200
Insurance-motor car 6700
Opening stock of raw materials 55200
Sale of factory scrap 10800
Closing stock of raw materials 5800
Hire charges — plant & equipment 45600
Salaries — office staff 248000
Salaries - drawing department 72000

(10)

(15)
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Opening stock of work in progress 13000
Closing stock of work in progress 15200
Directors Remuneration 80000
Office rent 24000
Sundry expenses 6500
Brand Ambassadors remuneration 61000
Direct wages 91200
Cost of tender 2200
donation 2000
Opening stock of finished goods 25200
Closing stock of finished goods 28400

Other information
Profit is 16.67% on sales

You are required to prepare cost sheet showing various elements of cost.
OR

M/s Delhi hand press co. produces a standard type of the product. The following particulars are given
from which you are required to prepare cost sheet for the period ended 31/12/2016.

particulars Amount (Rs)

Opening stock of materials 22000
Purchase of raw materials 68000
Closing stock of raw materials 10000
Productive labour — 140 % of factory on cost ?
Factory on cost 25000
Office overheads — 15% of works cost ?
Selling & distribution expenses 10000

There was no opening or closing stocks of work in progress. However the following details of finished
products are available.

Production of finished items

Opening stock in the beginning for 1500 units
Closing stock

10,000 units
Rs. 25,000
3500 units

You are also required to find out the profit which is uniformly earned at 33.33% on selling price.

(15)

From the following information. Prepare store ledger account in the books of M/s Prakash enterprises for (08)

the month of January 2017 using FIFO method

Sr. Date Receipt Issues
No.
January 2016 Quantity (kgs) Rate (Rs.) (Kgs)
1 15t 2000 8.00 -
2 5th 600 12.00 -
3 7th - - 2400
4 gth 800 40.00 -
5 12th 600 20.00 -
6 22nd - - 1200
7 24th 1000 10.00 -
8 315t - - 1000
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From the following data, calculate economic order Quality by using Tabulation and formula methods

Annual material consumption — 6000 kg

Cost of placing an order Rs. 60

Cost per unit Rs. 10

Storage and carrying cost — 10% on average inventory
OR

(07)

Viraj Itd has four departments P,Q, R are production department and S is service department. The actual (08)

expenses for the period of January 2017 are as follows :-

Particulars Amounts
Supervision 1500
Energy 900
Employees Contraction to P.F. 150
Insurance (Stock) 500
Lighting 100
Depreciation 450
Maintenance 600
Rent 1000
The following information is available in respect of four departments.
Particulars departments
P Q R S
Floor space (sg. mtr) 75 55 45 25
Numbers of workers 12 8 6 4
Total Direct Wages (Rs.) 4000 3000 2000 1000
Cost of machinery 12000 9000 6000 3000
Stock of goods (Rs.) 7500 4500 3000 -

A worker produced 400 units in weeks’ time the guaranteed weekly wages payment for 90 hours is Rs.
162. The expected time to produce one unit is 30 minutes which is raised further by 20% under the
incentive scheme. What will be the earning per hour of that worker under Halsey’s (50% sharing) and

Rowan Bonus Schemes?

Following are the balances of cost Ledger of a manufacturing company on 1 April 2015

Particulars Debit (Rs.) Credit (Rs.)

Stores Ledger control account 34,000

Work-in-progress Ledger control Account 45,600

Finished stock Ledger control Account 24,000

Cost Ledger control Account 1,03,600
1,03,600 1,03,600

You are given the following information for the year ending 31 march 2016:-

particulars Amount (Rs)

Purchase of materials 1,00,000
Direct Factory Wages 1,40,000
Manufacturing expenses 89,200
Selling and distribution expenses 30,800
Material issued to production 94,400
Manufacturing expenses recovered 88,880
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Selling and distribution expenses recovered

30,640

sales

3,20,000

Stock of material at end

39,600

Stock of finished goods at end

29,400

Work in progress at end

49,400

You are required to prepare :-

Cost ledger control account

Stores ledger control account
Work in progress ledger control account
Finished stock ledger control account

Cost sales account

Costing profit and loss account

OR

Product A is manufactured after it passes is through three distinct processes. The following information (15)
is obtained from the records of a company for the year ended 31/3/2016

particulars Process X Rs. Process Y Rs. Process Z Rs.
Direct Material 10,000 8,000 12,000
Direct wages 8,000 12,000 16,000

Production overheads are 100% of direct wages 4000 units at Rs.5 each were introduced to process X.
there was no stock of material or work in progress at the beginning and at the end of the year. The
output of each process passes direct to the next process and finally to finished stock account. The
following additional data is available :

particulars Output during the year % of normal loss to Value of scrap per unit
input (Rs.)
Process X 3800 5% 3
Process Y 3360 10% 5
Process Z 3000 15% 5

Prepare Process accounts and Abnormal gain or abnormal loss accounts for the year ended 31/3/2016

Good Luck Construction Itd undertook a contract for construction of building on 1 April 2015. The (15)
contract price being Rs. 45,00,000 the following details are available for the year ending 31/3/2016
Particulars Rs.

Material purchased 7,20,000

Material issued from stores 9,00,000

Labour employed on site 2,70,000

Plant installed at site 3.60.000

Direct expenses 1,80,000

Proportionate establishment charges 45,000

Cash received (80% of work certified ) 18,00,000

Work un certified 4,50,000

Material returned to stores 45,000

Material in hand at the end 18,000

Wages outstanding 54,000

Direct expenses accrued 72,000
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Prepare the contract account. A part of the plant costing Rs. 60,000 was stolen at the beginning of the
year and the Insurance co. paid Rs.36,000 plant is depreciated at 20% P.a.

OR

Z Ltd. producer and sells a single article at Rs. 50 each. The marginal cost of production is Rs. 30 each and (08)
fixed cost is Rs. 2000 per annum. Calculate

The P/V Ratio

The break even sales in Rs. and In numbers

The sales to earn a profit of Rs.2,500

New Break-even point in Rs. If selling price is reduced by 20%

The details regarding the composition and the weekly wages rates of labour force engaged on a job (07)
scheduled to be completed in 30 weeks are as follows
Category of standard Actual
workers No. of labours Weekly wages No. of labours Weekly wages
rate per labourer rate per labourer
(Rs.) (Rs.)
skilled 75 60 70 70
Semi-skilled 45 40 30 50
unskilled 60 30 80 20
The works actually completed in 32 weeks calculate
Labour cost variances
Labour Rate variances
Labour efficiency variances
Explain the characteristic of Non-integrated Cost Accounting System (10)
Explain the importance of marginal costing (10)
OR
Write short notes (any four) (20)

ABC Analysis

Rowan Bonus Plan

Product Life Cycle Costing
Significance of variances analysis
Retention Money

Basis of apportionment of overheads
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